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PSYCHOLOGY
PAPER - II

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions

are compulsory.

Partial reinforcement is considered better than continuous reinforcement becauste :
i

(1) the learning occurs rapidly (2)  the learning occurs slowly f;

(3)  the extinction occurs rapidly (4) the extinction occurs slow]fy r

L

7,
Match List - I with List - II and indicate your answer using the codés given below :

List - I List - II }I.
(Test) (Dimensip"ln / Trait as_lbessed)
(a) EPPS (i) State anx;ety ,/
(b) EPQ-R (ii) Psychoticism Y
() NEO-PI-R (iii) Achievement motifation
(d) STAI (iv) Q_}K)enness to exper{ence
Codes =
(@) (b) (o) _ (d)
) ) (@) @)@
2 () @) | Gv) ()
3) (i) (V)& () ()
4 G (i)

Which of the following is correctly arranged ?

(1) Sensory mlemory / short / term memory / forgetting

(2)II'k J Long / term memory / sensory memory / short-term memory
(3)  Sensory memory / short / term memory / long-term memory
(4) Episodic memory / short term memory / long-term memory

N

e
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3) (i) (v)4 () @)
f@ @ @) f‘l) : (iif)
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(1) waet wyfa | steqeme wfq / foremo
\

(2)\, , STeehTedT i / Heral fd / STedqehiei™ Sfa
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Arrange the four basic characteristics of instincts as per Freud’s psychoanalytic theory in
terms of sequence.

(a) an impetus (b) a source (c) an object (d) an aim

Chose the correct code for sequence of events

1 (k) (@ @ (©

2 (© (b (@ (@

G ® @ @ (© {

@ (@ (b (© (@ (
{ r

History of intelligence Testing can be discribed in following sequence :

(1) Galton — J.M. Caltell - Benet - Simon — Wechsler el F

(2) J.M. Cattell - Stern-Terman — Benet - Simon '—)‘Wechsléer {

(3) Wister — Benet - Simon — Spearman —}A{B Cat’;'ell,l

(4) Galton — J.M. Cattell - Spearman —>r_|"WeChsler .n'l

Bartlett described memory as a : \,/

(1) Constructive mental process " (2) Reprodl'lcﬁv‘e mental process
!

(3) Active mental process f (4) A process of retention
. <
Vi
Deterioration Quotient (DQ)*Was first used in which intelligence tests ?
(1) Benet - Simon Test (2) Galton - Cattell Test
(3) Raven Progressive M{atrices (4) Wechsler Adult Intelligence Test

According to'Hall - Spence theory, anxiety is emotionally based drive and therefore, it can be
hypothesized theLt high anxious subjects would be faster on eyelid conditioning than the low
" anxious subjects. § Using Taylor Manifest Anxiety Scale (MAS), a researcher confirmed this
hypothesis. This garox}ides evidence for the :

(@) Convergent and discriminant validity of the MAS
(b)" Validity of the Hull - Spence theory

(c),lk Generalizability of the MAS

(d) ¥ Construct validity of the MAS

(

(

1)  (b) only (2) (a) and (b) only
3) (b) and (c) only (4) (b) and (d) only
vous [ TN ‘
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4. U % HaY H HES H AR g F FTER g Y o =GR qo faeredien s et
HITSTT |
(a) Hom (b) @i (c) & (d) e
S ok HH o AT W& FHe F AT HIWT
M () (@ (@ (9
2 (© (b (2 ()
G) () (d (@ (o)
a) (b) (o (

)
)
) d)

)
)

5. gfg e ¥ sfaem =1 f=fafea wa § affa feean s gwar @ -
(1) e — S.TH. hed — T FEAM — JTeR

2) WA FA - T A - fo AEAHF - a4 J'i'
(3) foret - ot ety — Wl o sl Hew
(4) e — ST, Heel — TR - qwerR) i

6. Eecie A Wid ®1 oA fohar o : ‘
(1) TF TS THRAe Wi % &9 §(2)  TF qIeced: ATaE T & &9 5
(3) U Wiwa AHRAE THA F T A 4(4) Waﬁfwm%mﬁ

Y
L
7. o9 Ay K1 STAN Hord I8 1?5'43[4?\{@ Tdteror o foam o ?
(1) fom - aEaE ahe (2) TERA - hed WA
3) iﬁ'—fﬁﬁf&ﬁﬁﬁ{?ﬁ . (4) AYER TSE Tefasid T

(
8. A - T gl % ATER, VS W A ST €, I FE rhuIcAh T feh ffereh g
A GANT HT Th ST F Tl I FAST T g B A9 g1 | Ter Afere gfye=a |
/(TaTTa.) & ._Imﬁ@,wwmﬁwwwﬁg&ﬁl RERESEIRSIER IS
HIA 7 ? |
(a) THTTE. aﬁaﬁwrﬁ RIRCRECEI
(b)" & - TE fHgT 1 S
() TALTEE. 1 AR
(d) ¥ THTE. H g S

(1) &aa (b) (2) I (a) I (b)
(3) I (b) ¥R (c) (4) I (b) R (d)
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9.  The best home environment for intellectual development is one :
(1) In which child is encouraged to work out problems with guidance and support from
parents
(2) In which parents dictate the child what to do
(3)  In which child is left on his own
(4) In which father is absent to impose his authority :
II #
10. According to interference theory, which one of the following causes forgetting ? 5 ¥ :
(1) Failure of storage (2) Failure of encoding
(3) Failure of retrieval (4)  Response Competition " g
. 4
11. The evidence that sleep is a biological motiVe/ comesffrom in lengthy sleep
deprived subjects. f . I.'
(1) rebound effect of slow wave sleep (2) | rebound efllfect of REM sleep
(3) insomnia 4) emhanl;ﬂJ stage -I and stage - II sleep
¥ 'l
12.  On a Wechsler type 1nte1hgence scalir the subject has a deviation IQ 115. What would be his
T score (Mean=>50, SD=10) ?
(1) 60 (2) .615 A (3) 68 (4) 84
13. Complex behaviourallsequences which are species - typical behaviours are triggered by :
(1) releasers in the environment (2) learned behaviours
(3) - needs " 4 (4) incentives
o !
14. The following ar!as are involved in human vision :
(a) _ Prestriate cortex (b) Striate cortex
(c) InferotemILoral cortex (d) Posterior parietal cortex
C}I{"ogse the correct option :
(1) ™ (@) and (b) ) (@) () and (0
(3) (b), () and (d) 4) (@), (b), (c) and (d)
vosus | HHININAN :
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9. difge fam & faq =R 1 gataw ardmeRo 98 © :
(1) 599 =2 & Ama-faa & F<eM qen STt e & "7 9 3 oTt guened 9 feed %
AT Hefeq feram S € |
) o am-faar a== %1 f1dw <d § 6 8 | w2
(@) 59H =3 ®l o7 T W BIS fean S
4) o9 fo@ oo v SRiftd e & fo dieg T8 W gl
10. T fagm & R, fefafed § @ #F fawro sro § 2 f f’
(1) oI 1 THEed (2) e - AGH HI FAHHA!
(3) qA: T I FAGHA] 4) agmsr%wm“-- _
{
11. i & o =99 ® 98 ez Hﬁﬂjgﬂaﬁﬁmﬁﬁw%l
(1) i T8 g &1 gfdafseares g9 (2) [ SRE. e 1 gfifRETF T
(3) &A=t (4) %%Y?%Uqu I Qe =R - 1
12. YR UTEY & dfg A H quﬁlq?cwg%ﬁ%‘d(ﬂ%ﬂ) 11581 39HT . HHIEH T AT ?
(W& =50, A fo=re=10) .”
1) 60 (2) .65 (3) 68 (4) 84
13. Sifedt =aER 31T, G@Wﬁ—ﬁﬁ%w% F g afa € :
(1) SR H Refrsd { (2) eAferTiad e
(3) « STerTAHE 4) v
14. AHa gfe ® Fiwi‘cqlﬁﬂqqlrﬁ@ HA-HE | & W 2
(@) o Xad arge (b) Ed Fege
(c)t #Hd: ar—mﬁja@'—é (d) THawsta fufaer aege
T fred T A
(1) (@) 3 (b) 2 (@) (b) ¥R ()
3) (b), (o) ¥R (d) @) (@), (b), (©) ¥R (d)
vouss [ [[HLAMIA AN 7
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15. Which one of the following is not correct in regard of semantic memory ?
(1) Itis relatively stable (2) There is interference in it
(3) It is free from acquisition context (4) It has chunking
16. Self - modelling means :
(1) A type of learning in which individuals watch themselves behaving in a situationally
appropriate manner and then show the same behaviours later on. /
(2) Type of learning in which individuals learn new behaviour f ( .
(3)  Type of learning in which individuals learn to develop self-beliefs
(4) Type of learning in which individuals learn through~ gulded partmlpatlon from
significant others. d { _
AR
17. Match List - I and List -II and indicate your )é‘orreclt choilﬁlze among the codes given below :
List - I List- I1 :
(Type of reinforcer) (Descriptiol)/ ;
(a) Punisher (i) " kacquired satis'ﬁér -
(b) Positive reinforcer < (i) removing aversive stimulus
(c) Negative reinforcer Vi (dfu) presenting reward
(d) Secondary reinforcer . (iv) aversive consequence
Codes : "
(@ (b) (9 i' (@ |
M @) @,
L2 @ @) ). (1v)
® @ @ o
@) @ (@) /G (@)
' |
18. While travelling in a train, nearby objects appear to move faster in the opposite direction
thanydo far away objects this phenomena is called :
(1) " Phi - Phenomena (2) Motion parallax
(3) Autokinetic movement (4) Perception of movement
vosus | HHININAN 8
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15. oneff =gf & geiy § frAferiad § 9 &9 o & T8 82
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(@ () () (d
(1) - (v) ()4 G ()
(2 @ (i) *‘“Fi) (iv)
3 @) @) (i) @
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19.

20.

Which of the following is correctly arranged ?
(1) Identify - set goals - explore - alternatives - select - evaluate -implement

(2) Identify - explore - set goals - alternatives - select - implement - evaluate

o
f
(3)  Select - explore - identify - set goals - alternatives - implement - evaluate

(4) Explore - identify- select - set goals - alternatives - evaluate - implement

L

r

s |i
r

Read each of the following two statements - jAssertion (A) and Reason (R) and indicate

your answer using the codes given below : | ' [

Assertion (A) : According to the true score model irff;e Clagsical Test Theory (CTT), for a
population or a lar%e sample, et
!

(
4/ '
Mean of the 'E)litaiﬁed scores = Mean of the true scores.

Reason (R) : In the CIT, the errors of measurement are assumed to be independently
distl"-ibuted with a mean and variance equal to zero.
w |
Codes : d |
&

i - \
(1) Both (A) anfﬂ (R) are true and (R) is the correct explanation of (A)

(2) = Both (A) ard (R) are true, but (R) is not the correct explanation of (A)

\
(3)Ik 7 (A) is true, but (R) is false

r

(4) (A) is false, but (R) is true

e 1
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19. fr=fafaa # 9 %9 W& ®9 9 Hafted g2

(1) TEaH & - A& Fuiia FE - BHEH HET - fahed - =91 HET - JATHRT HAT -

(2) TEEM HET - BEEN HAT - A& FUia w1 - faohed - =FF7 FEA - A FA - A= THA
Al ;

&
(3) T HIA - DA HT - TgAH HIAT - A& IR T - fowred - ] wTA —'ftﬁ':rfam
[
AT

(4) BHEH HET - TEH HET - =TI HET - A8F H9iRa Oh{"II-—j. felshed - Hediehd sl - AN
AT y 4 |
/“’ 3
F
20. Frefefed & wor - mm(A)aﬁzﬁ(k)aﬁw@Q?iﬁm@wwm@m
IR i |

ARy (A) Waﬂwawwuﬁaﬁ%@a&r{mﬁwwfﬂm(ﬁ 3. A.) | geaiw

sr%wa%aﬂeﬁ"uwmaﬂmw AT T TEA

qeh (R): 9133 ﬁ mﬁg&ﬁﬁw@mwaww%wwﬁww@ﬁﬁﬁﬁm
IR

‘4

(1) (A)aﬂx(R)‘Eﬁ'vﬁaﬁ%sﬁ'{(R),(A)ﬁﬂﬁw%l
(2)' (A) 3R (R) ST W& &, =fFT (R), (A) T T =me E )
(3) ¥ (A)W%,W(R)W%l

(4) (A) T B, Al (R) W& R

youss [ [[HHHAINANI Y
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21.

22.

yous [

Match List - I and List - II, and select the correct answer by choosing from codes given
below :

List -1 List - IT

(a) Libido (i) Human beings strive to return to an inorganic state of
balance that preceded life, in which there is no painful
struggle to satisfy biological needs.

g |

(b) Thantos (i) Psychic and pleasurable feelings associated with
gratification of life instincts. ,.(;

(c) Suppression (iii) A person’s refusal to perceive an unplgasant environment

in external reality.

L

(d) Denial (iv) Individual’s active and cons-ciouSJattempt to stop anxiety
provoking thoughts by simpiy not thinking about them.

Codes : /"J = |

/ i

/ -

(@ (B () (@ ,' ‘
1) @) @) @) (@) ‘/ .J
(2) (i) @) i) (iv) f r —

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) A Retinal disparity is an important monocular cue in depth perception.
Reason (R) : jForli'yergence is a muscular cue in depth perception.

Codes : I

(1) " Both (A) and (R) are true and (R) is the correct explanation of (A)

(2)|'% Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) " (A) is true, but (R) is false

(4) (A) is false, but (R) is true

T i
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21. 4 53 T %2 A1 FA FIA G Gt - 1! Gl - 11 91 Gafad o

T - 1 g - 11

(a) eI (fafaet) (i) TI G w1 39 oA T H Al H YA H § S
SiTaq % Teet off, frad Sifas sevasat | & ?q B

FEYS Y T el |

(b) ITe™ (i) ST sl e FeIfai o aRdror § eifed i 'ﬁ?ﬂdﬂdqw
G | L

(c) THT (HUTM) (i) maméﬁﬁsﬁa@awaﬁuﬁ%ﬁﬁwaﬁm
ERUESCRAERIISIE I d

) F=9 (feamaa) (iv) WWW?@WW@?W?@W%
T\E‘I'QWWW/W am—a—ﬂwml

%< ,.'

@ ® © @ ,.

(@) (D) (D) (iv) \»j
() (@) () (@) 4 ' Al '
(i) @) (v) (i) 1 { '

(v) (i) @) () __H

1
2

1)
(2)
)
4)

4

22, fr=fafed s - WW(A)aﬁwzﬁ(R)aﬁqﬁqaﬁiﬁﬁqﬁwWaﬂﬁgqm
I i

arﬁmaFr(A).;, efior ST, I Taeied § Tkl Geohd R |
/ T (R): ‘Fﬂm,@%ma‘mﬁuﬁﬁsﬁﬁﬂ%ﬁ%
Fe
1) (A)aﬁI(Rjaﬁﬂé%aﬁT(R), (A) = HEl =T B |
(), (a) 3R ®) <R 7 ¥, A (R), (A) F1 T AT T R
(3) > (A) T B, AfF (R) Terd )
(A) e B, AR (R) WL
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23.

24.

25.

26.

yous [

As per Schachter and Singer’s theory of emotions, one shall experience emotions based on
situational clues when :

(a) there is a physiological arousal

(b) there are cognitions/explanations available for arousal

(c) there is no physiological arousal

(d) there are no proper explanations available for one’s arousal

Chose the correct code : !

(1) (a) and (b) (2) (a) and (d) (3) (b) and (c) (4) .(c) and (g}}’ )

Spearman Inferred General Intelligence on the basis of :
(a) Positive Manifold in intercorrelation matrix
(b) Tetrad differences in equation 4§ { (

(c) unequal scores of same subjects on intelliﬁe‘hce tests

(d) Reports from the subjects ,.'f _|'

Codes : | ' _a'

(1) (a) and (c) (2) (b) and (d) \ ‘j

(3) (a) and (b) 4 (@and@ " 4
%4 f

The parasympathetic nerves prej@ct_ffrom :
: )
(1)  the lumbar and thoraciclrggions of the spinal cord

(2)  the brain and sacral re.éion of the spinal cord
(3)  the brain and the lumbar region of the spinal cord
(4) the lumbar andfthe SfICI'al regions of the spinal cord

Read each of‘the following two statements - Assertion (A) and Reason (R) and indicate

Assertion (A) : People who learn more and more lists of words on successive days have

ore and more difficulty learning each new list next day.

your answer usigéthe codes given below :

Reason (R) : | People have limited capacity to learn verbal material.
Codes : |

(1), Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) ‘j" Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

T Y
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23.

24.

25.

26.

AT F IR TE FOR F fagra & AR fRet 1 Hom & sre uRkftafas= dodi & sTeR W
FUISER

(a) Wi SAH BT

(b) SIS 1 [/ TR0 B |

(c) IS IR ST & &

(d) fowret & AR IS H1 h1E THfq TR STAH T & |

LEETACELE i

(1) (a) 3R (b) 2 (a) ¥R (d) s
(3) (b) 3R (o) (4) () ¥R (d) :

THeREA 7 fhE oM9R | 9= i 1 A7 T ?
(a) STaHeHeuTHE Hfgam ¥ Uifsifea Afhee
(b) EHTRTO H =qeicHe d

-

() Ffe e % Weler H AT FAA h STEAIR AqF

(d) TIRl  RA™

%e ’ '

(1) (a) ¥R () a>@gw 4
(3) (a) &R (b) E@)@ﬁw=’

TR e el § gafid gﬁh%{?{
(1) eS| T Hie q a&ﬂﬂ_ﬁﬂi

(2) iR g Hewey] 1 Aokl 4
(3) fh qe HE] H i &

(4) B 1 F REnIRE

ﬁﬂﬁfﬁ@ﬁamfﬁ—aﬁmm(maﬂ?ﬁm)aﬁmaﬁ?ﬁﬁq@aﬂ SR A U ST
wélﬁm:

fa%mmm:%@wﬁmwwwme@%ﬁwﬁmwwWWEW@ﬁﬁ

erfirepiferen hfaeTE 1 QAT T U= B
qeh (R) : arfard armft e & desd ® arn 1 arar wifa gt 21
¢ : |
1), (A) 3R (R) S T& € 3R (R), (A) FT TE =087 2|
2) ¥ (A) R (R) IFT TE €, AFFA (R), (A) FT T = T 7
3) (A)FE &, @l (R) Tord |
(4) (A) TG B, WfRA (R) T&T €

youss [ [[HHHAINANI s
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27.

28.

29.

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : A synapse does not necessarily result into action potential in post - synaptic

neuron.

Reason (R) : Synapses produce inhibitory post - synaptic potential also in post - synapatic
neuron.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A) \ p

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A) {

(3) (A) is true, but (R) is false f

(4) (A) is false, but (R) is true ) ¢

Which of the following is not the way we acq;i};@ cohce‘z‘pts ? E
y

(1) Naturally acquired (2) Discrimination Learning

f/
(3) Innate (4) | By Definition

Match List - I with List - IT and select the correct ansvér by choosing from the codes given

below : \ r

List - I ( “List - II

(a) Functional fixedness Y @ A cognitive process that employ appropriate
novelty to originality that suits some purpose.

(b) Back tracking * 3 (i) A problem solving phenomenon in which people
{ ( seeing alternative uses for common objects.
(c) Creativity| (iii) A problem solving technique that involves keeping
d track of solving process where in assumptions are
4 made ; so they may later be changed.
" (d) Working b‘_ kward (iv) A problem solving technique that identifies the final
! goals and the steps in reverse order.
Codes : :
S @ (b) (@ (d)
1), @ ) 3G (Qv)
(2) ¥ @) @) @) ()
@ @ 6 @ @)
@ @) @) @ ()
vous [ [[ LN 1
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27. Trafafed § weAl - feRe (A) 3R @&k (R) 1 afer 3R = fSu F2i 1 SwErT %3 g 791

28.

Wﬂclﬁl"{:

ATYRAT (A) : T8 Tavasd e ® T dfent @y o1 s e @t dfse it o & 1
G Bl |

e (R) : et Sferat SR <fsert wik e st & off fed s afen | w1 g
IT= HAl B |

e :
(1)  (A) 3R (R) 3T T § 3R (R), (A) FT W =08 § i
)  (A) 3R (R) I T §, @l (R), (A) T TE =A@ T 7 { r
(3) (A) W@ €, ek (R) Terd €|
4)

4) (A) TeTd ©, WA (R) Tl )

o  # fm g g oo < 91 S| e §7

(1) T 3 g (@) [ e s g
(3) e 9fs 5N @) | e gy
29. w-mw-mwg&mﬁ@qﬁﬁanaag—f:ﬁ@ﬁ%wwﬁ :
Tl -1 o [ Th-m
(a) TwMIicH feerfiemTo ¥ (%) Teh GaHcTes gfshan f9e g1 qa1 | eieh qaiar 1
- YA o ST § S Fw A o fore Suged g R
(b) URETY TR (i) THEN GHEM HI TF el {98 an U el &
{ foru Sefeus Swam 2@ €
(c) HSHIcHRAl { (iti) FHEA FHIEM 1 Tk qohrileh [STHH IH FHIEM Ffshan 1T
4 I @ Sl § foed qaymome 59 S € a3
P gftafdd fwam s e |
L@ Wﬁﬁ“ﬁ?—( (iv) T TS GHH el s gty e # sifan @e
' T SSHI I TEA I ST 2 |
L .I
a (@ (b) () (d)
(O, 0 @) (i) (@)
(@) 5 @) @D @) @
@) @) (@) @) (v)
4) (@@ @) @O (v)
youss | [{EHIMNANI 17
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30. Visual cliff is a laboratory method for testing depth perception in :

(1) Infants (2) Children (3) Adults (4) Old - age people

31. Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Surface traits are simply a collection of trait elements which ob\;iously go
together in many different individuals and circumstances. Intercoryelated
trait elements or variables cluster together to form a surface trait.

lp' [

Reason (R) : Source traits are underlying factors that control the variation in surface

clusters.

L

r

Codes : i

L

(1) Both (A) and (R) are true and (R) is the Sgn‘ect e>g.planat10n of (A)

(2) Both (A) and (R) are true, but (R) is no}; the correct. explanatlon of (A)
r .-'

(3)  (A) is true, but (R) is false I \
(4) (A) is false, but (R) is true fl y
Y (
32. Match List - I with List - II a_nd‘behe&t the correct anslwer by choosing correct code :
List - I - A List - II

(@ —67mv ‘ (1)  Polarized

(b) + 45mv i‘ ((ii) Hyperpolarized

() - 70mv, (iii) Depolarized
o
oA - 72mv . (iv) Completely depolarized
| Codes

@ ® 0 @

1

11
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30.

31.

32.

H e GoHefRIu 1 SiE ¥ HE TR Tk FANTce JoTedt © |
(1) oo fget (2)  w=A (3) IR (4) dgan

frafafaa <t werl - e (A) 3R @eh (R) &1 9fg 3R = fU %2l 1 ITEnT Std g Ao
I ST :

AMIRIT (A) : T3 faveivs Shae It U1 & A9 & GUE oI § i T ﬁfwwﬁmﬁam
TRfeerfaet # TF @ = € wwﬁaﬁsﬂawwawyﬁaﬁa
T8 Ts 1Y T8 faverus o1 fmi w1 €1 {

qh (R): TS foveiok o 7o % 8 ¢ o1 I8 [=8 H Iaa i Fafad wd g |
< :

s N li
(A) SR (R) T T <R (R), (A) F 7 A1~

(A)aﬁt(R)‘qﬁfHér%,W(R),(A)ﬁﬁ%wwéf%n
(A) & 2, AfFT (R) o 21 , ‘aj

(A) TTd ®, AR (R) T R =
m.k {

1
2
3

(
(
(
(4

)
)
)
)

T - 11 gt - Ilésmagﬁﬁfl%ﬁmﬁﬁﬂﬁﬁﬁuﬁﬁwmwﬁ
Tt - 1 T - 11

@ —67THAL 0 g

(b)  + 45 THAL ! () et g

() —70 m:rgﬁ (i) fagfad

(

f@ -7 qcraﬁ“f (iv) Yol fagfaa

A

@ © O @
1) @) @) 6 @)
)\ i) Gv) @) (i)
3) '(ﬁ) (iv) (i) (i)
4) (i) () (i)

il z
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33.

34.

35.

36.

37.

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : In problem solving process, people generally evolve/select the optimal
solutions of a problem.

Reason (R) : A number of solutions are identified to choose from.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A) '

(3) (A) is true, but (R) is false .'1-‘;
(4) (A)is false, but (R) is true [ r

Sometimes old information facilitates our learning of new information. The phenomenon is
known as . r
(1) Consolidation effect (2) Transfer effect (

(3) Proactive interference 4) Eﬁgitatory’effect
,."' i

A man judged to be six feet tall when standlhg at te feeft away has ‘X’ size of retinal image
where as at twenty feet, it has X/2 retinal size 1ma§e How tall shall he be perceived at a
distance of five feet ?

(1) 6 feet Vi) 6x —g—feet

< 1
10+ 5 \ b ) )
(3) 6Xx > feet A (4) Size can not be judged

The first attempt to both theorise and measure intelligence was made by :
(1) J.M. Cattell " (2) | Galton (3) Binel (4) Spearman

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer usipé the codes given below :

Assertion (A) : According to Maslow, after the gratification of basic needs we move in

positive direction, but it is not automatic.
Reason (R) : | We often fear our best side, our talents, our finest iimpulses, our creativeness.
Codes : |
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2)\ J Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) " (A) is true, but (R) is false
(4) (A) is false, but (R) is true

e 2
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33. frefafea & weAl - sifire (A) 3R @@k (R) 1 afer 3R = ST Fel 1 ST 3 g 791
Wﬂclﬁl"i:
TR (A) :  THL FHIHM YihAT H SN HHEIG: THE & $=a9 UM faefad / =99 wid
gl
e (R) : 3T HIEM! ! 89 &1 Sl § S99 =99 31 21 § |
%<
(1) (A) 3R (R) T e § 3R (R), (A) BT FEl =0€A € |
2) (A) 3R (R) T T2, Al (R), (A) T el AT & 2 |

(B) (A) ¥ ¥, &fRA (R) Te@ B "‘(H'
@)  (A) T ¥, AfET (R) T R f
34. i amﬂg;m%w@%ﬁmﬁw%afmﬁmwﬁ%l wmaﬁﬁwﬁf@a%m
B ST AR ) (
(1) HHEHA g (2) SRUREIC]
(3) fd gfera gwaem (4) ;;a%a-rmﬁ e

35. Wqﬁzaﬁiﬁm@%@ﬁ:wﬁwﬁaﬁﬁm ,%W'X'%wﬁﬁzow?g@%%ﬁ
TR IH AR X/2 ¥ W B R Gl Y 36 B S hy Sl o g 2

10 5= "
1 =3 L@ 6x— %2
4/ '
3) 6><102+5W Vv € @ 3R 1 STIHM TRl HT Thd

36. dfg & fagidieo $iIY SU% A9 *1 veen vaE fhder gm0 fofen T ?

(1) SUA. %A ¢ (2) Teed @) fo (4) THEEA
T 1

37. frAfafEd <1 wom - AR (A) 3R ek (R) 1 96T iR = 3T Fi &1 ST 3 g ST
SR : A
/ ATHRAT (A) : “HIEl ok STTAR STATAHAIAT TR0 B ok SWI §H FohRIeHh feam & sgd
O3 9% 9 : T8 i |
e (R): T B9 TR ST U, T AN, ST SeFE T U0, ST TaTeshd § s
B
I

) (A) iR (R) SR T E SR (R), (A) F1 T e ¥
)“.(A)aﬁI(R)aﬁﬂﬁr%,W(R),(A)ﬁﬂﬁaq@ﬂ?ﬁ%
) (A) T 3, AfE (R) T B

(4) (A) 7T ¥, WfRT (R) TR B |
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38. A fifth test was added to an old established selection test battery of four tests. Two multiple
correlations, one between a suitable external criterion and three tests of the old battery, and
the other between the same criterion and four tests of the new battery were computed. The
significant change is R?> would provide an evidence for the :

(1) predictive validity of the old battery
(2) incremental validity of the fifth test
(38) predictive validity of the new battery f
(4) concurrent validity of the fifth test : r;
f r
39. Which of the following stages is called the period of problem solving behaviour ?
(1) Secondary Circular Reaction (2) Reflex . g
(3)  Tertiary Reaction (4) Primary Circular{Reac'ﬁon
»
y A
40. The rate of responding is found to be higherr.'in the Condi_lt'ion of :
(1) Variable-internal schedule of reinforcément (l
(2) Fixed-ratio schedule of reinforcement == V.
(3) Variable-ratio schedule of reinforgement f
(4) Both in (2) and (3) \ ! J‘r
A

41. Read the following statements and indicate which are correct.
(@) Archetypes arejthemes that have existed in all cultures throughout history.

(b)  Personal unconscious is the region next to the ego which consists of all the forgotten
experiences that have lost their intensity

() Musculine Archetype in men is called animus.

(d) Persona is @ compromise between demands of the environment and necessities of an
individual.

Codes :
I
(1) (a), (b) and (c)

(2) ¥ (b), (c) and (d)

(3) (@), (b) and (d)

@ (@ (©and @
youss [ |

a),

) )
LTI 2
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38. TR TN Y YA T wHA T Sl B U uiedl wieiv Siel T S 9g-Seder, Th
ST SRl HIQUS A1 YT sedt o i Td&mi qe g8 H IH AHQUS a1 T ol o 9 qde
% ST GO 1 T8 | R2 H Hecaqul ufedd frefafaa 9 9 feas @iag gega wam?
(1) TR I T ynfaae Seran
(2) wiEd W& T A e
(3) T S HI UNfask A
(4) wiEd TI&T T HHed! Sgdl P
39. frfafad § @ SN =0 Toean Gy SIER H1 Aty FHE S | 2 Ir
(1) fedtore gt wfafswan (2) geEdA ‘g .
(3) qdtEeR gidfska (4) AR T Hrdr:hm (
40.  arfwa Y < o feafq § arferss Wi St B I‘f
(1) =R-3(qA (e STIgH] , \‘/
(2) ffeaq-smgmies grefem Srgee
(3) =R-AUIfaR qAee g 4 f
) TR @ SRE I ‘:* ¢
41, frerfefad serl 1 ue oK @@ o o7 4 7 w9 €
(a) o ¥&Y o foug € S q sfaerd & weft genfe § w© €1
(b) WWW%%W%%%W%aﬁW%W%WWW@
TR
S0 TEuiH STETE T HEA ¢ |
(d) qﬁmﬁ:;lﬁm% TS QT STEYAHATS o si1< Tl h1 FHEI ¢ |
®RE : '
aj @ o)
@) (), (©) 3R (d)
() @ (b) ¥ (d)
4 (@), () 3R ()
youss | [{EHIMNANI 2
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42.

43.

Trace the correct sequence of the following events for audition :
(a) synapses in primary auditory cortex
(b) synapse in superior olives

(c) synapse in the inferior colliculi

(d) synapse in the cochlear nuclei e
(e) synapse in medial geniculate nucleus . L
Codes : . §
1) @ ® () (o) and(a) Y. 4
2 (d) () (b) (e)and (a) .. ,, %,
G ® © © (@ and) r. ,// |
4 © 1) (© (d)and (@) ,
V
4 1
</ |

Our brains construct our percbgtioris because :

(a) Sensations are disassembled into information bits

(b) Neuro musculaf cues{ from the greater inward turn when the eyes view a near object

(c)  Brain reassembles information into its own functional model

|

. (d) Perception ‘F merely projecting the world onto our brain

Codes :

4 a) (b d)

) ( ) (
youss [ [FHHHHAIN NI 2
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42. gau & fau f=fafad seei & |& wF &1 =91 w1

43.

(a)
(b)
(©)
(

/(@)

< :

(1
@
3

4)

~—

pous ]

N
£l

AR a1 gogpe § afrmt GiEt
uier siifera # dfenr |y

STRITR hifcRar  dfen |fy

IR TS H dfFehT EfY

Hifeaa SR JFaad | a1 |y p

)

—_~ o~~~

<

; )

s = Foe e T (Fr2) B A 3
Wﬁaﬂaﬁ{é@ﬁ:ﬁﬁamﬁaﬂ?@ﬁ@m—ﬂﬁﬁ?ﬂa@%@ﬁ%
ﬂﬁaﬁmﬁlmﬁaﬁwﬁam%mwﬁqﬁﬁaﬁw%l
W&ﬂwﬁﬁwﬁﬂﬁﬂmquﬁ%l

(b) .I
(c
(

C

a)
b)

( (©)
( ) (d)
@ (© (@

@ (b (d)
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44.

45.

Match List - I and List - IT and select the correct answer from the codes given below :

List - I List - II
(a) Self - Schema (i) A generalised evaluation of self
(b)  Self - esteem (i) When a person doubts one’s abilities to perform
a task
(c) Self - presentation (i) Organisation of informations about self

(d) Self - handicapping (iv) The way one thinks of presenting oneself befoire public

Codes :

(@ (b) (o) (d)
1 Gv) @) @) @
(2 @) @) @O (1)
®) @) @ (v) ()
@) @) @) @G (i)

Which of the following factors reduce the adéuracy if ey"ewitness testimony ?

(a) suggestibility

(b) Source monitoring errors

%

(c) Interference !
(d) Ilusion of out group ho_mb%ep&ity
Codes : VA

(1) (a) and (b)

(2) (a), (b)and (d5i. ;
3 @ (@and(@" |
4 () (C).aid (d)

" Instructions for‘ff. Nps. 46 to 50 :

/

-

Read the following paragraph and answer the five questions that follow :

Psychology, as a scientific study of behaviour, employs several diverse research methods to
collect and analyse data. In the early phase of modern psychology, experimental method
has been highly popular. The early psychologists, like Fechner and Ebbirghaus, were
waell - known experimentalists. Experimental method allows the active manipulation of the
independent variable (IV) Ronald Fisher and others systematized the area of experimental
designs. Due to the success of controlled laboratory experiments, field experiments were
also carried out where the IV is manipulated in the natural or field setting. Especially due to
the need for policy and program evaluation research, quasi - experimental designs have also

e
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44, G - 1 GE - [ & WY GHfad &L 7201 T 3 T F2 9 9@ fosheq &1 =21 a8

Tt - 1 T - 11
(a) SACH A () TE a1 WURURd qediRd
(b)  3TH TEH (i) 9 ®E Al Rl HE R FA H ST &G R AF HT §
(c) 3cH y&fd (i) T % TR H SAFRR] hT HTEATIH
(d) e o (iv) ST % T e % A e o % e
EIRCRED Ve
e f ,
@@ (b (9 (d)
1) Gv) () @) ()
A58 B TN
@ O G 6 @ f ;
45. ﬁmﬁf@aﬁ@ﬁ?ﬁwmﬁqu&aﬁw F §?
() EE T
(b)  -fmrt et ¥
(c) 3Ty « [
(d) T TR T EHETE A )
- =
(1) (a) 41 (b) i.
2 @ ®7A@ |
3) (@) ©F7 (d)
@) (), (o) 7l ‘(d
9 . 46 9 50 ﬁfﬁ? ISERRENIE
Frefafaa aﬁzﬁﬁawwﬁ:ﬁﬁqum%w%
EEIERIE R Eh‘l@h‘é%ﬂﬁ?m" 31 § fored eriengl & Wevr aen faversor ¥ st fafay vy
ﬁ'ﬁﬂ'ﬂ‘r 1 T foha STan § 1 ey Ao % et IR | i fafy et e @ )
FEL Ao TfeTeTe S WRfse Aefaa o st & | weieret fafy  w@es = (o o) %
afFa TRads H STAtT & S ¥ IeS FRR a9 o Y T sfie % A F A
feran | Tt T T ) At % RO, & FA o fRd T SRl Tas WX giehiae
vous [ HTHNHONTIN 2 Paperct
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46.

47.

48.

been developed. Various non - experimental methods, including surveys and correlational
research, are also employed in psychology. The survey method employs interviews, both
structured and unstructured, and questionnaires. Both open - end and close - end questions
and scale items can be used in interview schedules and questionnaires. Different types of
observations, including naturalistic observation, participant and non-participant
observation, are also used in certain areas like ethology. In the qualitative research
tradition, case studies are widely used. Special research approaches, for example, ethnographic
research, have been developed for specialized areas like cross-cultural psychology. Inaddition,
psychologists use various measurement techniques including stapdardized
objective tests, projective methods, situational tests and even physiological measures. The
use of such diverse methods and measurement techniques has enriched the science of
psychology as well as our understanding of human and animal behaXfiour including the
cognitive processes.

L

r

Which of the following are considered as quasi - experimental designs ?

(a) Time series designs (b) Re ression - discc-)ntimiity design

(c) Survey (d) NJi - equ?valent control group design
Codes : / . ,'I

(1) (d) only 2 | (@ an!‘ (d) only

(3) (@) (b) and (d) only @) (), © qrfgl (d) only

Fd

-

Which one of the following is a limit}ti'en of case stucfy ?
(1) It does not provide indepthtipformation of the subject

(2) Itis difficult to generalize from the case study
(3) It is useful only in clinical and counselling psychology
(4) It uses diverse methods and sources to collect data about the subject

iu
|

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer uging the codes given below :

tudying cause - and - effect relationship.

. Assertion (A) : ,.,Explerimental method, as compared to other methods, is more suitable for

Reason (R) : As compared to other methods, experimental method permits more
Cefficient control of extraneous variance.

Codes : |

(1)|k Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) "W Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

e 2
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AU &7 F=aad | uRafdd foran Sar €1 fosie &9 @ ifa qon wreiwe qodie Y wi STaveshdl
& RO A4 - g stfyhey oft faskfaa fora 3 €1 wiiforem o welaror qen weawereft 3ny Hfed
3T TR gl fafeel w1 oft weim forn Siman @1 e fafy § Geemtns qon TR-SEes el
THR & FIEIEHR T JIATEfera o1 TN foma Srn € | eicehR HrishHl qe Jermafad § qar e
Hgd TEI YRR & YA T W19 HEl 1 GAR fRaT ST Wehdl B | STERfaTM S o9& &Fl | fafa=
TR o YaTon, ST grepfaes J&1v1, Heurl 9o TR Tewrht aror ot wnfia €, 61 ot ST foRan S
T[T I IO H ok STLa 1 A9 €9 9 FAN fohal a1 § 1 37d: Hipiae ‘-ljllolsllﬂ ESAC!
fordriepa & & fore fasie wier Surm, gen Tt sy, o oft T foman mn 7 wﬁ:qﬁrﬁaﬁ
TAfa e W qEAE], T A aeqTs T, gad fafr / uitfafae wdem
AR, sl A9 ot st € o1 SuE e § 1 U fafay fafu qon wfe qee) & gam 9
TR T& SaMeHe Gfshan |fgd AT qo1 9] Heer qredl garl 99d ‘lﬁﬂ'ﬂTs; TR

16. Frefafan § @ frd o1 WRifTE fvemes W ST E? |
(a) T hiHeh Afqhed (b) U] A TR
(c) Ha&T (d) S o T T arfshe
%he [ I _.“I
(1) I (d) (2) | (\) (d)
(3) e (a), (b) 3R (d) (4) I (b), (o) 3T(d)
%
47. 3% o 7 S e 3 3 # W82 r
(1) o8 FA59 %1 Te ST WA Tl |
(2) " A ¥ el uRoMg 1 A9 I HiSA T
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49.

50.

The emic - etic distinction is emphasized in :
(1) quasi-experimental research (2) ethological research

(3) case studies (4) ethnographic research

In a survey of students, each student was asked to state his views on the relevance gprresent

educational system in not more than 60 words. This is an example of : {
(1) Scale item (2) Closed - end question ' ‘-’/ !
[ F
(3) Check - list item (4) Open - end question
4
= F
-000- g \ {
»
|
|
/ | |
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Space For Rough Work
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